Anagram madness...

To complete this puzzle try and solve the following anagrams using the clues
provided.

Anagram clue solution
LGIEPOLCEKNS This is a percussion instrument  ........ccceeiieeennen.

which has metal keys

ABUT A large brass instrument ...

ACOD Often appears at the end of ...l
a piece of music

NOBROMET A long brass instrument ~ ...iiiiieiin.
LALERGETOT  Lively but slower than Allegro  ........ccccoeeeeeee
EARTUQT A group of four instrumentalists .........ccoeeennenn.
SARACAM This percussion instrument ...

can be shaken

PAHR A stringed instrument which has ......................
three sides

BANCTALIE In Italian this word means = ..oeviiriirniennnenen.
‘singing style’

OFARFETATND In Italian this word means = ..ceivveiireeeennnnnns
‘hurrying’






